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Sr Questions Answers Choice

1 Which form of dependency is removed n 3NF?
A. Functional
B. Non-functional
C. Associative
D. Transitive

2 Any array script should be:
A. Int
B. Float
C. Double
D. Array

3 The scope of a variable refers to its:
A. Length
B. Name
C. Accessibility
D. Data type

4 How many types of loop structure are available in C?
A. 4
B. 3
C. 2
D. 6

5 Another term for a conditional operator is:
A. Ternary
B. Binary
C. Byte
D. Iteration

6 The case block ends with:
A. End Select
B. End case
C. Break
D. Case else

7 Which is a possible value of flag?
A. -
B. +
C. Space
D. All of these

8 Which format specific is used for integer data type?
A. %d
B. %S
C. %C
D. %f

9 The number of bytes used by 'int' data type in C are:
A. 2
B. 8
C. 12
D. 16

10 C was developed in the year:
A. 1970
B. 1972
C. 1976
D. 1995

11 Which can be previewed on the screen before printing?
A. Report
B. Form
C. Sub-form
D. None

12 How many table views are available in MS Access?
A. 1
B. 3
C. 2
D. 4

13 Which object of database is used to retrieve data from database?
A. Queries
B. Forms
C. Reports
D. Tables

14 In relational database, table is also called:

A. Table

B. Relation
C. File
D. Schema

15 Which are basic data distribution strategies?
A. Centralized
B. Partitioned
C. Replication
D. All



16 The columns of a table correspond to:
A. Table
B. Record
C. Field
D. Cell

17 The conditional part of if statement consists of expression
A. arithmetic
B. logical expression
C. relational
D. both b and c


